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RRB NTPC Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c) ëy!›˜# „,þ¡Œ›)!“Åþ ¦þyîû“þ˜yÝþÄ› ˜,öì“þÄîû ¢öìD ë%_«Ð !“þ!˜ 1968
¢yöìœ þ™p×# ~î‚ 2001 ¢yöìœ þ™p¦)þ¡ì’ þ™%îûßþñyöìîû ¢Á¿y!˜“þ
£öìëû!Šéöìœ˜Ð ~Šéyvþüy 2016 ¢yöìœ ¢D#“þ ˜yÝþ„þ xÄy„þyöìvþ!›
þ™%îûßþñyöìîû ¦)þ!¡ì“þ £öìëû!Šéöìœ˜Ð

2. (b) ö‰þ!D¢ …¤y £zœ“%þê!›¢éôé~îû îûy‹c„þyöìœ ¦þyîû“þ xye«›’
„þöìîû!Šéöìœ˜Ð !”!ÍÔ ¢%œ“þy!˜ ¢yÁËyöì‹Äîû ²Ì„,þ“þ ²Ì!“þÛþy“þy
!Šéöìœ˜Ð !“þ!˜ ò!‹“þœó ~î‚ òÝþBþyó ˜y›„þ ›%oy ‰þyœ%
„þöìîû!Šéöìœ˜Ð

3. (b) ~„þy xyöì̈ yœ˜ ¢‚‡!Ýþ“þ £öìëû!Šéœ 1921 !…ÊÞÝþyöì·Ð ~£z
!îöìoy£ ›y”y!îû þ™y!¢îû ö˜“,þöìc ¢‚‡!Ýþ“þ £öìëû!ŠéœÐ

4. (a) ¢Á±!“þ !î!ŸÜT ¦þyîû“þ#ëû ‰þœ!F‰þe x!¦þöì̃ “þy þ!îöì̃ y” îF‰þ˜
ö@Õyîyœ ö²Ì!ÞÝþ‹ xÄyçëûyöìvÅþ ¦)þ!¡ì“þ £öìëûöìŠé˜Ð

5. (c) ¦þyîûöì“þîû xÄyÝþ!˜Å ö‹˜yöìîûœ îûyÜT Éþ™!“þ myîûy !˜ë%_« £˜Ð
¢‚!î•yöì̃  76 ˜‚ •yîûyëû xÄyÝþ!˜Å ö‹˜yöìîûöìœîû !˜ë%!_«îû „þíy
î!’Å“þ £öìëûöìŠéÐ

6. (a) „þ!ÞÝþ„þ ö¢yvþyîû îûy¢yëû!˜„þ ˜y› ö¢y!vþëûy› £y£zvÈþ:y£zvþÐ ~!Ýþ
¢y”y îûöì̂ îû ~î‚ †õþ£#˜ †Äy¢Ð

7. (d) !Ýþ. !¦þ. !îûöì›yöìÝþ £z̃ šÊþyöìîûvþ “þîûD îÄî£yîû „þîûy £ëûÐ £z̃ šÊþyöìîûvþ
“þîûöìDîû “þîûD ÷”‡ÅÄ 780 ˜Äyöì̃ y!›ÝþyîûÐ

8. (a) ¢Á±!“þ þö„þw#ëû öëy†yöìëy† ›sþf„þ 'Ek Ped maa ke
Naam' ˜y›„þ ö›yîy£zœ xÄyþ™¢  ‰þyœ% „þöìîûöìŠÐ ¢yîûy
ö”Ÿ‹%öìvþü  ¢‚!ÙÕÜT îÄ!_«îû ›yöìëûîû ›,“%þÄöì“þ †yŠé œy†yöì̃ yîû
“þíÄ ˜!í¦%þ_« „þîûyöì̃ yîû ‹˜Ä ~£z xÄyþ™¢ ‰þyœ% „þîûy £öìëûöìŠéÐ

9. (a) xÄy›y£zöìÝþy!¢¢ þ™kþ!“þöì“þ £zÞÝþ î‚Ÿ !îhßþyîû „þîûöì“þ þ™yöìîûÐ
10. (b) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 30 ˜‚ •yîûy x˜%¢yöìîû ¢‚…Äyœ‡% ö×!’

“þyöì”îû !˜‹ßþº !ŸÇþy ²Ì!“þÛþy˜ !˜öì‹îûy£z ßþiyþ™˜ ç îûÇþ’yöìîÇþ’
„þîûöì“þ þ™yîûöìîÐ

11. (b) òxþ™yöìîûŸ˜ šÏþyvþó „þ›Å¢)‰þ# £z!¨îûy †yõþ#îû ¢›ëû †,£#“þ £öìëû!ŠéœÐ
”%• vþzêþ™y”öì̃ îû îÄyþ™„þ î,!kþöì„þ òxþ™yöìîûŸ˜ šÏþyvþó îöìœÐ

12. (a) ¢Á±!“þ x˜%!Ûþ“þ 2024 ¢yöìœîû !¢Dyþ™%îû @ùÌ¤y!þ™ þšþ›%Åœy çëûy˜
„þyîû öîû!¢‚ ²Ì!“þöìëy!†“þyëû ‰þÄy!Á™ëû̃  £öìœ˜ !îÊöìÝþöì˜îû
›y!¢Å!vþ‹ vÈþy£z¦þyîû œyöì̈ y ö˜y!îû¢Ð

13. (b) NDP = GDP – Depreciation
14. (b) !m“þ#ëû ö†yœöìÝþ!îœ ÷îàþöì„þ ¦þyîûöì“þîû ‹y“þ#ëû „þ‚öì@ùÌöì¢îû

þ™Çþ öíöì„þ ²Ì!“þ!˜!•c „þöìîû!Šéöìœ˜ ö›y£˜”y¢ „þîû›‰¤þy” †yõþ#Ð
15. (c) 169 ˜‚ •yîûy x˜%¢yöìîû þ™yœÅyöì›rÝþ ¦þyîûöì“þîû ö„þyöì̃ y îûyöì‹Äîû

!î•y˜ þ™!îû¡ì” ¢,!ÜT îy !îöìœyþ™ „þîûöì“þ þ™yöìîûÐ
16. (b) ¢Á±!“þ ²Ì„þy!Ÿ“þ 'Randhurandhar Shahajiraje

Bhosle' ˜y›„þ @ùÌöìsþiîû îû‰þ!ëû“þy £öìœ˜ x›îû ë%îîûy‹ ”y˜†yÝÐ
!“þ!˜ ›£yîûyöìÜTÉîû !î!ŸÜT ú!“þ£y!¢„þÐ

17. (c) ¦þyîû“þ#ëû ¢‚!î•yöì̃  61 ˜‚ •yîûyëû îûyÜTÉþ™!“þîû ò£z›!þ™‰þöì›rÝþó
þ™kþ!“þ î!’Å“þ £öìëûöìŠéÐ

18. (c) ‹œ öíöì„þ „¤þyöì‰þ éôôôé xy¦þÄhsþîû#’ þ™)’Å ²Ì!“þšþœ˜ ö”…y ¢½þî–
ë!” xyöìœy ²Ì!“þ¢,“þ £ëûÐ

19. (a) ßþºy•#öì̃ y_îû ¦þyîûöì“þ ²Ìí› xíÅ „þ!›Ÿ˜ †!àþ“þ £ëû 1951
¢yöìœÐ

20. (c) ¢Á±!“þ !î£yîû îûy‹Ä ¢îû„þyîû ö¢ îûyöì‹Äîû !m“þ#ëû ˜ÄyŸ˜yœ
Ýþy£z†yîû !îû‹y¦Åþ †öìvþü ö“þyœyîû ‹˜Ä x˜%öì›y”˜ œy¦þ „þöìîûöìŠéÐ
~!Ýþ „þy£z›%îû ö‹œyëû †öìvþü ö“þyœy £öìîÐ

21. (c) ò£z„þ“þy îy ‹yëû!†îû ²Ìíyó ²Ìí› ‰þyœ% „þöìîû̃  £zœ“%þê!›¢Ð
!“þ!˜ ò!‹“þœó ˜y›„þ “þyÁË ›%oy ~î‚ òÝþBþyó ˜y›„þ öîûïþ™Ä ›%oy
‰þyœ% „þöìîû!Šéöìœ˜Ð

22. (c) New India þ™!e„þyîû ¢Á™y”„þ !Šéöìœ˜ !î!þ™˜ ‰þw þ™yœÐ
~Šéyvþüy !“þ!˜ öîDœ þ™yî!œ„þ ç!þ™!˜ëû̃  ~î‚ ”Ä !ÝþÆ!îvþz̃
þ™!e„þy ¢Á™y”˜ „þöìîû!Šéöìœ˜Ð

23. (b) !Gþœ› ˜”#îû “þ#öìîû ×#˜†îû Ÿ£îû!Ýþ †öìvþü vþzöìàþöìŠéÐ
24. (c) 2024 ¢yöìœ þ™”yíÅ!î”Äyëû ö˜yöìîœ þ™%îûßþñyîû öëïí¦þyöìî

öþ™öìœ˜ ”%£z !îKþy˜#Ð ëíyéôô ‹˜ £þ™!šþÓþ ~î‚ !‹çöìšÊþ
!£rÝþ˜Ð xy!ÝÅþ!šþ!Ÿëûyœ !˜vþzîûyœ ö˜Ýþçëûyöì„Åþîû ¢y£yöìëÄ ö›!Ÿ˜
œy!˜Å‚öìëû ö›ï!œ„þ xy!îÜñyöìîûîû ‹˜Ä ~£z ”%£z !îKþy˜#öì„þ
öëïí¦þyöìî ö˜yöìîœ þ™%îûßþñyîû ö”çëûy £œÐ

25. (a) îûy˜y ²Ì“þyöìþ™îû îûy‹Ä!¦þöì¡ìöì„þîû þ™öìîû 18 ‹%̃  1576 ¢yöìœ
ö›îyîû ç ›%‡œöì”îû ›öì•Ä Sxy„þîîûV £œ!”‡yöìÝþîû ë%kþ ¢‚‡!Ýþ“þ
£ëûÐ

26. (c) „,þ¡Œ ›,!_„þy †!àþ“þ £ëû îÄy¢ÎÝþ !Ÿœy öíöì„þÐ
27. (a) îûy¢yëû!˜„þ¦þyöìî xÄy¢!þ™!îû̃  £œ xÄy!¢Ýþy£zœ ¢Äy!œ¢y£z!œ„þ

xÄy!¢vþÐ
28. (b) ¢Á±!“þ xyöìœ„þ‹yuþyîû ”%̃  2024 ¢yöìœîû SASTRA

îûy›y˜%‹˜ ²Ìy£zöì‹ ¦)þ!¡ì“þ £öìœ˜Ð
29. (a) ¢›%öìoîû œî’y_« ‹öìœîû pH ~îû ›y˜ 8.5Ð
30. (c) „þÄyªyöìîûîû !‰þ!„þê¢yëû îÄî£*“þ £ëû 60

27CO Ð ~!Ýþ ~„þ!Ýþ
†y›y îû!ÙÂÐ

31. (b) ›Äyœy„þy£zÝþ …!˜‹ öíöì„þ Cu îy “þy›y þ™yçëûy ëyëûÐ
32. (a) ¢Á±!“þ !„þîû’ îûyç þ™!îû‰þy!œ“þ òœy ™y“þy öœ!vþ‹ó ‰þœ!F‰þe

òöîÞÝþ £zrÝþyîû̃ ÄyŸ˜yœ !šþ‰þyîû !šþÍÃó !î¦þyöì† xßþñyîû þ™%îûßþñyöìîûîû
‹˜Ä ›öì̃ y˜#“þ £öìëûöìŠéÐ

33. (c) ‹öìœîû xyöìþ™!Çþ„þ “þyþ™ 4.186 ‹%œÐ ‹öìœîû xyöìþ™!Çþ„þ
“þyþ™ öî!Ÿ £çëûyîû „þyîûöì’ ‹œ àþy[þy £öì“þ öî!Ÿ ¢›ëû ö˜ëûÐ

34. (b) öþ™þ™öìÝþy˜ £œ œ¸þ ö²Ìy!Ýþ˜Ð
35. (b) ö²Ìy!Ýþ˜ Ÿ˜y_«„þîûöì’îû þ™îû#Çþy £œ !îvþzöìîûÝþ öÝþÞÝþÐ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 8  !vþöì¢Áºîû– 20242

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

36. (a) ¢Á±!“þ ×#œBþyîû ö²Ì!¢öìvþrÝþ !£¢yöìî !˜ë%_« £öìœ˜ þx˜%îûy
„%þ›yîûy !”Ÿy˜yöìëû„þÐ !“þ!˜ ~îyöìîûîû !˜îÅy‰þöì̃  42.31 Ÿ“þy‚Ÿ
ö¦þyÝþ öþ™öìëûöìŠé˜Ð

37. (c) ö¢y!vþëûy› ¢yœöìšþöìÝþîû îûy¢yëû!˜„þ ¢‚öì„þ“þ £œ Na2SO4Ð
~!Ýþ !vþÝþyîûöì‹rÝþ ²Ìlßþ“þ ~î‚ „þy†öì‹îû ›[þ ÷“þ!îûöì“þ îÄî£*“þ
£ëûÐ

38. (c) þ™‰þy !vþöì›îû †õþë%_« î’Å£#˜ †Äy¢!Ýþ £œ £y£zöìvÈþyöì‹˜
¢yœšþy£zvþ (H2S)Ð ~!Ýþ îûy¢yëû!˜„þ !î„þyîû„þ !£öì¢öìî „þy‹
„þöìîûÐ

39. (b) òxöìëûœ xšþ !¦þ!ÝþÆçœó ˜yöì› þ™!îû!‰þ“þ ¢yœ!šþvþz!îû„þ xÄy!¢vþ
(H2SO4)Ð ~!Ýþ îûy¢yëû!˜„þ îÄyÝþy!îû ²Ìlßþ!“þöì“þ– ¢yîû ²Ìlßþ!“þöì“þ
~î‚ !îöìßþ³þyîû„þ þ™”yíÅ ÷“þ!îûöì“þ îÄî£*“þ £ëûÐ

40. (b) ¢Á±!“þ ›•Ä²Ìöì”Ÿ îûy‹Ä !˜îÅy‰þ˜ „þ!›Ÿ˜ ¦þyîûöì“þîû ›öì•Ä
²Ìí› öþ™þ™yîûöìœ¢ ö¦þy!Ýþ‚ ²Ì!e«ëûy ‰þyœ% „þöìîûöìŠÐ ¢”Ä ¢›y®
þ™Mþéyöìëû“þ !˜îÅy‰þöì̃  ~£z ²Ì!e«ëûy ‰þyœ% „þöìîûöìŠÐ

41. (b) 5 × 2 + 2 = 12
12 × 2 + 2 = 26
~„þ£z¦þyöìî–
11 × 2 + 2 = 24
24 × 2 + 2 = 50

42. (d) 23 = 8
83 = 512
~„þ£z¦þyöìî–
13 = 1
13 = 1

43. (c) 5 + 8 – 4 × 2 ÷ 9
= 5 × 8 ÷ 4 – 2 + 9
= 10 – 2 + 9
= 17

44. (a) 

B G C

DE F

A

!e¦%þ‹=!œ £œéôô ADE, ADF, EDB, BDG, GDC,
CDF, ADB, BDC, ADC, ACE, CBE, ABG, ACG,
AFB, BFC, ABC
 ¢%“þîûy‚ ö›yÝþ 16!Ýþ !e¦%þ‹ xyöìŠéÐ

45. (b) 27 + 22 + 1 = 50
13 + 12 + 1 = 26
9 + 2 + 1 = 12

46. (b) (5 + 6) – (4 + 7) = 0
(7 + 6) – (8 + 4) = 1
(11 + 0) – (0 + 0) = 11

47. (c) 0 + 2 + 6 = 8
2 + 6 + 8 = 16
6 + 8 + 16 = 30

8 + 16 + 30 = 54
16 + 30 + 54 = 100

48. (c) ~…yöì̃  ”%!Ýþ series xyöìŠé
(i) 81 27 9 3 1

   
81÷3 27÷3 9÷3 3÷3

(ii) Y –6 S N J–5 –4 –3 G
49. (a) ~…yöì̃  ²Ì!“þ!Ýþ @ùÌ&öìþ™ öœÝþyîû=!œ +3 •yþ™ „þöìîû ~!†öìëû öœ…y

£öìëûöìŠé ~î‚ þ™öìîûîû @ùÌ&öìþ™îû ²Ìí› öœÝþyîû!Ýþ þ™)îÅî“Åþ# @ùÌ&öìþ™îû
öŸ¡ì öœÝþyîû !”öìëû Öîû& £öìëûöìŠéÐ
A D G

+3 +3

G M SJ P VM S Y

+3 +3 +3+3 +3 +3
50. (c) ababba / ababba
51. (a) 1

T
2
A

3
L

4
E

3
L

2
A

1
T

4
E

~„þ£z¦þyöìî–
1
C

2
A

3
F

4
E

3
F

2
A

1
C

4
E

52. (b) ²Ìí› ö×!’îû ²Ìí›– !m“þ#ëû– “,þ“þ#ëû ~î‚ ‰þ“%þíÅ î’Å ëíye«öì›
~„þ– ”%£z– !“þ˜ ~î‚ ‰þyîû ‡îû ~!†öìëû !m“þ#ëû ö×!’îû î’Å=!œ
þ™yçëûy ëyëûÐ

53. (b) (3)2 = 9
(3)3 = 27
(3)4 = 81
(3)5 = 243
(3)6 = 729

54. (b) A

D E F

J K L
B CG H I

¢›yhsþîûyœ ¢îûœöìîû…y DF ç BC
œÁº ¢îûœöìîû…y DG, AH ç FI
“þ#ëÅ„þ ¢îûœöìîû…y AB, AC, BF ç DC
ö›yÝþ 2 + 3 + 4 = 9!Ýþ ¢îûœöìîû…y ~î‚
!e¦%þ‹=!œ £œ ABC, ADE, AEF, DEK, EFK, DJK,
FLK, DJB, FLC, BJG ç LIC, ADF, AFK, DFK,
ADK, DKB, FCK, BKH, KHC, DGB, FIC, DFJ
ç DFL, ABK, ACK, BFI, CDG, DFB, DFC ç
BKC, ABH, ACH, ABF, ACD, BFC ç CDB
ö›yÝþ 10 + 10 + 2 + 7 + 6 + 1 = 36!Ýþ !e¦%þ‹Ð

55. (a) 4

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

56. (c)

57. (a) 33 + 2 + 2 = 31
33 + 2 + 3 = 32
33 + 2 + 5 = 34
33 + 2 + 7 = 36
33 + 2 + 11 = 40

58. (d) t s t / t s t / t s t / t s t

59. (c)
15 57 8

9




24 12 4
9




13 x 7
9




x = 63 – 13 = 50
60. (a) 6 × 2 = 12

~„þ£z¦þyöìî–
6 × 26 = 156
(6 + 1) × 20 = 7 × 20 = 140
(6 + 1) × 26 × 10 = 7 × 260 = 1820

61. (b) ö„þyvþ îy„þÄ
mu mit es who is she
elb mu es where is she
!m“þ#ëû ö„þyöìvþ mu ç es Ÿ· ”%!Ýþ þ™%̃ ƒîÄî£yîû „þîûy £öìëûöìŠé
!„þlsþ elb Ÿ·!Ýþ ~„þîyîû îÄî£yîû „þîûy £öìëûöìŠé “þy£z ‘where’
Ÿ·!Ýþîû ö„þyvþ £œ ‘elb’Ð

62. (c) (7 × 4) – (5 × 3) = 13
(8 × 4) – (9 × 3) = 5
~„þ£z¦þyöìî– (9 × 4) – (8 × 3) = 12

63. (c) TRAIN Ÿ·!Ýþîû R xÇþîû!Ýþ ö”çëûy Ÿöì·îû xÇþîû ˜ëûÐ
64. (a) ›y›y

B D

C

A

›y›y ”y”% ˜y!“þ
¦þy£z

›y›y ›y›y

65. (b)

ßþf#öìœy„þ îyîy

¦þy£z

!þ™“þy›£

öœy„þ!Ýþîû ¢öìD ßþf#öìœy„þ!Ýþîû ¢Á™„Åþ öîy˜Ð

66. (c)

7 !„þ!›

5 !„þ!›

2 !„þ!›
öŸ¡ì xîßþiy˜

x

67. (d) 10m

10m

5m10m

öŸ¡ì xîßþiy˜

²Ìí› xîßþiy˜

68. (d) U
1

N
2

D
3

E
4

R
5

S
6

T
7

A
8

N
2

D
3

S
6

T
7

A
8

R
5

T
7

69. (d) 500 – (4)2 = 484 – (5)2 = 459 – (6)2 = 423
423 – (7)2 = 374

70. (c) Yeast öíöì„þ Bread ÷“þ!îû £ëû !àþ„þ ö¢îû„þ› Curd îy ”£z
Bacteria öíöì„þ ÷“þ!îû £ëûÐ

71. (b) •!îû– ‡!vþü!Ýþîû ²Ìyí!›„þ e«ëû›)œÄ = x Ýþy„þy

“þy£öìœ ~îû !îe«ëû›)œÄ 
120 6xx
100 5

    
 

 Ýþy„þy

˜“%þ˜ e«ëû›)œÄ = (x – 100) Ýþy„þy

˜“%þ˜ !îe«ëû›%œÄ 
6x 6x 500100
5 5

        
   

 Ýþy„þy

x!‹Å“þ œy¦þ = 25%

   6x 500125x 100
100 5


   

   6x 5005x 100
4 5


   

 25(x – 100) = 4(6x – 500)
 (25x – 24x) = (2500 – 2000)
 x = 500
¢%“þîûy‚ ‡!vþüîû ²Ìyí!›„þ ›)œÄ = 500 Ýþy„þy

72. (d) OB = 40°
 OAB + OBA = 180° – 40° = 140°
~…yöì̃ – OA = OB
 OBA = OAB
 OAB = 140/2 = 70°

73. (d) ‡öìîûîû ²Ìßþi = 8 !›Ýþyîû ~î‚ vþzF‰þ“þy = 5 !›Ýþyîû
•!îû– ÷”‡ÅÄ = x !›Ýþyîû
“þy£öìœ– 2 × (x + 8) × 5 = 220
 x + 8 = 22
 x = 14
‡öìîûîû ÷”‡ÅÄ = 14 !›Ýþyîû

74. (d) •!îû– !e¦%þöì‹îû vþzF‰þ“þy = h ö¢!›Ð “þy£öìœ

1 324 h 24 24 h 12 3
2 4
       ö¢!›



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 8  !vþöì¢Áºîû– 20244

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

3r = 12 3   r = 4 3
xhsþîûî,öì_îû öÇþešþœ

 2
2r 4 3 48      î†Åöì¢!›

75. (a) (6 îyœ„þ  4 þ™%îû&¡ìV  (3 îyœ„þ  2 þ™%îû&¡ìV
(3 îyœ„þ  10 þ™%îû&¡ìV  (2 þ™%îû&¡ì  10 þ™%îû&¡ìV  12
þ™%îû&¡ì
 þ™%îû&¡ì „þy‹ öŸ¡ì „þöìîû = 18 !”öì̃
 þ™%îû&¡ì „þy‹ öŸ¡ì „þöìîû = (18 × 4) !”öì̃

 þ™%îû&¡ì „þy‹ öŸ¡ì „þöìîû 
(18 4)

12


 = 6 !”öì̃

76. (c) ÝþÆy„þ myîûy x!“þe«› „þîûy ”)îûc
= †!“þöìî† × ¢›ëû = 70 × 12 = 840 !„þ!›
12 ‡^ùÝþyëû †y!vþü!Ýþ ëyëû = 840 + 120 = 960 !„þ!›
†y!vþüîû †vþü †!“þöìî† = 960/12 = 80 !„þ!›/‡^ùÝþy

77. (c) A ~îû 1 !”öì̃ îû „þy‹ 
1

18


B ~îû 1 !”öì̃ îû „þy‹ 
1

15


B ~îû 10 !”öì̃ îû „þy‹ 
1 210

15 3
    
 

îy!„þ „þy‹ 
2 11
3 3

    
 

~£z „þy‹ A ~„þy „þöìîûöìŠé
1

18 ¦þy† „þy‹ A „þöìîû = 1 !”öì̃

1
3 ¦þy† „þy‹ A „þöìîû 18 1

1 3
   
 

= 6 !”öì̃

¢%“þîûy‚ îy!„þ „þy‹ A ~„þy 6 !”öì̃  „þîûöìîÐ

78. (a) •!îû– A, B ~î‚ C ~îû öî“þ˜ ëíye«öì› 2x Ýþy„þy– 5x Ýþy„þy
~î‚ 9x Ýþy„þy
“þy£öìœ– 2x = 2500  x = 1250
ö›yÝþ xíÅ = (2x + 5x + 9x) = 16x
= (16 × 1250) = 20000 Ýþy„þy

79. (a) •!îû– !þ™“þyîû î“Åþ›y˜ îëû¢ = 2x îŠéîû ~î‚ ¢%öìîûöìŸîû î“Åþ›y˜
îëû¢ = x îŠéîû

(2x + 20) =
3
2 (x + 20)

 2(2x + 20) = 3(x + 20)
 4x + 40 = 3x + 60  x = 20
 !þ™“þyîû î“Åþ›y˜ îëû¢ = 2x îŠéîû
= (2 × 20) = 40 îŠéîû

80. (d) 4000 ö„þ 19 !”öìëû ¦þy† „þîûöìœ ¦þy†öìŸ¡ì £ëû = 10
¢%“þîûy‚ !îöìëûy† „þîûöì“þ £öìî = 10

81. (c)
 
 

13
tan 60 tan 30 3

1 tan 60 tan 30 11 3
3

      
      

 

2 1 1
23 3

    
 

82. (a)
32sin 2 3 sin 2 sin60

2
      

2 60 30      

83. (a) 

A C

B

x

60°
100 !›Ýþyîû

•!îû– AB …¤%!Ýþ ~î‚ AC “þyîû Šéyëûy
“þy£öìœ– AC = 100 !›Ýþyîû ~î‚ ACB = 60°
•!îû– AB = x !›Ýþyîû– “þy£öìœ
AB xtan 60 3 x 100 3
AC 100

     !›Ýþyîû

¢%“þîûy‚ …¤%!Ýþîû vþzF‰þ“þy 100 3  !›Ýþyîû

84. (c) •!îû– ŸB%þîû ¦)þ!›îû îÄy¢y•Å = r ~î‚ vþzF‰þ“þy = h

“þy£öìœ ŸB%þîû xyëû“þ˜ 21 r h
3

 

˜“%þ˜ îÄy¢y•Å 
50 rr

100 2
    
 

˜“%þ˜ vþzF‰þ“þy 
300h 3h
100

    
 

ŸB%þîû ˜“%þ˜ xyëû“þ˜ 
2

21 r 13h r h
3 2 4

      
 

xyëû“þöì̃  £Éy¢

2 2 2 21 1 1 1 1r h r h r h r h
3 4 3 4 12

              
   

xyëû“þöì̃  Ÿ“þ„þîûy £Éy¢

2
2

1 3r h 100 % 25%
12 r h
       

85. (b) •!îû– ŸB%þîû !˜öì’Åëû ¢‚…Äy = n
“þy£öìœ–

   2 31 4n. 3 4 6
3 3

     
 

 9n = 216  n = 24
¢%“þîûy‚– ŸB%þîû !˜öì’Åëû ¢‚…Äy = 24



5Achievers

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

86. (b) ~…yöì̃  r = 8 ö¢!› ~î‚ h = 21 ö¢!›

‹öìœîû xyëû“þ˜
1 22 8 8 21
3 7

      
 

‡˜öì¢!›

= 1408 ‡˜öì¢!›
öëöì£“%þ 1 ‡˜ ö¢!rÝþ!›Ýþyîû ‹öìœîû ç‹˜ 1 @ùÌy›– “þy£z ŸB%þ
xy„þyöìîûîû þ™yöìe ‹öìœîû ç‹˜ £öìîéôôô
1408 @ùÌy› = 1.408 ö„þ!‹
 ‹öìœîû ç‹˜ = 1.408 ö„þ!‹

87. (b) •!îû– ö†yœöì„þîû îÄy¢y•Å = r ö¢!›

“þy£öìœ– 3 34 4 22r 4851 r 4851
3 3 7
     

3
3 21 441 21 21 21r 4851 r

88 8 2 2
            

   
ö†yœöì„þîû îe«“þöìœîû öÇþešþœ = 4r2

22 21 214
7 2 2

     
 

ö¢!›2  = 1386 ö¢!›2

88. (a) •!îû– 2007 ¢yöìœ P ö„þyÁ™y!˜îû îÄëû = ` x
œy¦þ = ` 2.1 œy…
 ` x ~ œy¦þ = ` 2.1 œy…

` 100 ö“þ œy¦þ 
2.1 100

x
   
 

œy…

2.1 100 2.1 1007 x
x 7
 

   
œy… œy…

2.1 100
7



œy…

= ` 30 œy…

89. (b) 2005 ¢yöìœ Q îyöì” îy!„þ ö„þyÁ™y!˜=!œîû †vþü Ÿ“þ„þîûy
œy¦þ

 9 5 8 12 6
8%

5
   

 

 !˜öì’Åëû þ™yíÅ„þÄ = (10% – 8%) = 2%
90. (d) •!îû– 2008 ¢yöìœ R ö„þyÁ™y!˜îû xyëû = ` x

œy¦þ = ` 18.9 œy…

“þy£öìœ– x 9 18.9 
100


 œy…

18.9 100x
9


 
œy…

= 2.1 œy… × 100 = ` 210 œy…

 2008 ¢yöìœ R ö„þyÁ™y!˜îû xyëû = ` 210 œy…

91. (a) •!îû– !˜öì’Åëû îûy!Ÿ = ` P ~î‚ ¢%öì”îû £yîû = R% îy!¡ìÅ„þ
“þy£öìœ

 R 3 RP 2 P 2 72
100 100
            

  

R 6P RP 2 P 2 72
100 100 100

             
   
6P 72

100
 

72 100P 1200
6


  

¢%“þîûy‚ !˜öì’Åëû îûy!Ÿ = ` 1200
92. (a) •!îû– ÷”‡ÅÄ = 5x !›Ýþyîû ~î‚ ²Ìßþi = 3x !›Ýþyîû

“þy£öìœ– 2(5x + 3x) = 480
 8x = 240
 x = 30
 ÷”‡ÅÄ = 150 !›Ýþyîû ~î‚ ²Ìßþi = 90 !›Ýþyîû
¢%“þîûy‚ öÇþešþœ = (150 × 90) = 13500 î†Å!›Ýþyîû

93. (b) 1 !„þ@ùÌy !›×öì’îû !îe«ëû›)œÄ = ` 96, œy¦þ = 20%
•!îû– 1 !„þ@ùÌy !›×öì’îû e«ëû›)œÄ = ` x

“þy£öìœ– 
120x 96 12x 960 x 80
100

     

 1 !„þ@ùÌy !›×öì’îû e«ëû›)œÄ = ` 80

†vþü›)œÄ
`(  80)

30 20

(  100)` (  50)`
S  !„þ@ùÌy Ökþ !‡öìëûîû e«ëû›)œÄV1 S  !„þ@ùÌy ¢hßþy !‡öìëûîû e«ëû›)œÄV1

!˜öì’Åëû x˜%þ™y“þ = 30 : 20 = 3 : 2
94. (d) •!îû– ›)œ•˜ = ` x ~î‚ ¢%öì”îû £yîû = R% îy!¡ìÅ„þ

 R 1 Rx 2 x 2 240
100 100
           

  
R x 1 2x 2 x 2 240

100 100 100
               

   
 x = (240 × 50) = 12000
 ›)œ•˜ = ` 12000

95. (c) öÝþÆ̃  ”%!Ýþîû xyöìþ™!Çþ„þ †!“þ = (80 + 55) !„þ!›/‡^ùÝþy

5 75135
18 2

    
 

 !›Ýþyîû/ö¢öì„þuþ

ö›yÝþ ”)îûc = (90 + 120 + 90) = 300 !›Ýþyîû

!˜öì’Åëû ¢›ëû 
2300

75
   
 

= 8 ö¢öì„þuþ

96. (d) •!îû– B x ›y¢ þ™öìîû îÄî¢yëû x‚Ÿ !˜öìëû!ŠéœÐ “þy£öìœ–
(45000 × 12) : 54000 × (12 – x) = 2 : 1

   
45000 12 2 45 12 2

54000 12 x 1 54 12 x 1
 

   
   
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——————

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

 1296 – 108x = 540
 108x = (1296 – 540) = 756
 x = 7
¢%“þîûy‚ B, 7 ›y¢ þ™öìîû îÄî¢yëû x‚Ÿ !˜öìëû!ŠéœÐ

97. (a) x‹öìëûîû ›y!¢„þ xyëû = x Ýþy„þyÐ “þy£öìœ
x ~îû 25% + x ~îû 5% + x ~îû 15% + x ~îû 10%
+ 27000 = x
 x ~îû 55% + 27000 = x

55 11xx x 27000 x 27000
100 20

            
   
9x 2027000 x 27000 60000
20 9

       
 

¢%“þîûy‚ x‹öìëûîû ›y!¢„þ xyëû = 60000 Ýþy„þy

98. (d) 2, 3, 4éôé~îû œ¢y= = 12

   
1 1 1

62 12 122 2 2 64
 

   
 

   
1 1 1

43 3 12 124 4 4 256  

   
1 1 1

34 4 12 126 6 6 216  

ßþ™ÜT“þ£z      
1 1 1

12 12 1264 216 256 

xíÅyê 342  < 6  < 4
99. (b) •!îû– ¢‚…Äy=!œ a ~î‚ b

“þy£öìœ a + b = 184 ...(i) ~î‚

a b 8
3 7
   7a – 3b = 168 ...(ii)

¢›y•y˜ „þîûöìœ a = 72, b = 112
x“þ~î öŠéyÝþ ¢‚…Äy!Ýþ = 72

100.(a) !îöìëûîû ¢›ëû ç£z ›!£œy ç “¤þyîû ßþºy›#îû ö›yÝþ îëû¢
= (23 × 2) = 46 îŠéîû
5 îŠéîû þ™öìîû !“þ˜ ‹öì̃ îû ö›yÝþ îëû¢
= (46 + 5 + 5 + 1) = 57 îŠéîû
†vþü îëû¢ = 57/3 = 19 îŠéîû


